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Whole Numbers

1. Round to the nearest whele number :-

a 49 b &7 e &7 d 179 e 383

f 741 g 665 h 329 i ho-82 J  735L
2. Round to the nearest second -

a 112 sec b 527 sec e 193 sec d 345 sec

e [28sec f 477 sec g 946 sec h 8503 sec.

3. Do these divisions, then round your answer to the nearest whole number :-
a 90:-8 b 103:5 e 135:6 d 234 :10.

1. Round to the nearest 10 pence :-

a 38p b 1lp ¢ 69 d 83 e 45p

f 7p g 104p h 386p i 802p j 985p.
2. Round to the nearest 10 metres :-

a 3lm b 6dm ¢ Jom d 98m e 104m

f 136m g 9l5m h 70lm i 7252 m J 1086 m.

3. Round to the nearest 100 :-
a 139 b 58 e 675 d B3 e 1770
f 3549 g 3559 h 9090 i 7555 j 1499

4. Round to the nearest 1000 -
a 1700 b 15300 e 52620 d 19508 e 683
f 84500 g 456400 h 724500 i 701499 j 9950L



Whole Numbers

Write down the answers to these :-
a 19x10 b 41x10
e 10 x665 f 840 x10

Write down the answers to these :-
a 13 x100 b 56 x100
e 609 x100 f 100 x B26

Write down the answers to these :-
a 6 x1000 b 27 x 1000
e 1000 x 80 f 476 x 1000

Write down the answers to these -
a H0-10 b 80-:-10
e 1400-10 f 4530-:-10

Write down the answers to these -
a 600 =100 b 1100 =100

e 2000 =100 f 31000 =100

Write down the answers to these -
a 7000 = 1000 b 13000 = 1000
e 3150001000 f 670000 = 1000

L

En]

78 x 10
10 x 2030

100 x 98
100 = 910

45 x 1000
1000 x 570

330-10
63000 - 10

2100 = 100
79000 + 100

36000 = 1000
H80000 - 1000

10 x 123
10 x 6998.

100 x 30
704 x 100.

710 = 10
26750 = 10.

3400 = 100
21400 = 100.

80000 = 1000
700000 = 1000.



Whole Numbers
Exercize 6

1. Cadlculate each of these :-
a 31x20 (Find 10 x 31 first = 310 and then find 310 x 2).
b 15x30 e 22x50 d 34 x60
e 17x80 f 225 x50 g 175 x40.

2.  Work out each of these, using 2 steps :-
a 16 x 200 (Find 16 x 100 first = 1600 and then find 1600 x 2).
b 15 x200 ¢ 13 x500 d 21x700

e 300x14 f 500x 321 g 3000 x 25.

1. Do the following divisions, using 2 steps :-
a 360 =30 (Find 360 +10= 36 and then find_3|36 ).
b 140-:20 ¢ 5HH0 =50 d 32400-80
e 17200-:40 f 10800-60 g 36000 = 50.

2. Divide the following :-
a 14200+ 200 (Find 14200+ 100 = 142 and then ﬁnd_é‘lﬁ" )-
b 18600 + 300 ¢ 12800 =400 d 26500-=500
e 13200-:200 f 56800 - 800 g 549000 = 900.



Answers

Anzwers tTo Shﬂpferl 1 2 a 3200 b 3000 c G300 d 14700
e 4200 f 160300 g 75000

Exercize 1
lL.a 5 B 7 c B d 18
e 38 f 74 g &7 h 3
i 87 j 74
2.a llsee b S53see ¢ 19szee d 35 sec
e f3sec f 48sec g Fsec h 86 sec
3a 11 B 21 c 23 d 23.
Exercize 2
1 a 40p b 10p c f0p d &0p
e S0p f 10p g 100p h 390p
i B00p j 990p
2.a 30m b &80m ¢ 80m d 100m
e 100m f 140m g 5320m h 700m
i 7230m j 1050 m
3. a 100 b 500 ¢ 700 d 100
e 1800 f 3500 g 3600 h 9100
i T&00 j 1800
4 a 2000 b 15000 ¢ 53000 d 20000
e 1000 f B50D0 gq 456000 h 725000
i 701000 j 100000
Exercize 3
1. a 400 B 1200 ¢ 3600 4 4000
e 10000 f 20000 g 10 h 10
i 20 j o0 k 100 | 10000
2. 15000 grams
Exercize 4
1. a 190 b 410 ¢ T80 d 1230
e 6650 f 8400 g 20300 h 69980
2. a 1300 b 5600 ¢ 9800 4 3000
e 60900 f 82600 g 91000 h 70400
3. a 6000 b 27000 ¢ 45000 d 85000
e BOO000 f 476000 g S70000 h B0O0O00O0.
Exercize 5
lL.a 5 B & c 33 d 71
e 140 f 453 g 6300 h 2673
2.a b B 11 c 21 d 34
e 90 f 310 g 790 h 214
3a 7 b 13 c 36 d &0
e 315 f &70 g 580 h 700
Exercise &

1 a 620 b 450 c 1100 d 2040
e 1360 f 11250 g T0OO



Decimals
| Exercise 4

1. 5Set these down and work out the answers :-

a 1971 b 4867 + 948 e 1873 d 34613-185
+ 683 - 668

2. Do these three subtractions :-
a R18 b 845 - 4581 < 90 - 7hA,
- 3695

3. Calculate the following :-
a 15 - 735 b Q- 494 & B2 - 3799,

4. Two baskets contain pineapples. One weighs 16-36 kg and the other weighs 14-85 kg.

a  What is the total weight of the 2 baskets ?

b By how much is the larger basket heavier than the smaller one ? “ﬁﬁ

1. Copy these and woerk cut the answers :—
a 324 b 4-82 < 607
x & x B = 4
o 718 = 347 f o088
= 3 = ¥ x 2
g 1434 = 5 h 248 x b i 8 x 145,

2. a A sack of red stone chips weighs 7-83 kilograms.
What will 5 sacks weigh »

b A drum holds 2-76 litres of oil when full. o

9 full drums of oil spill on to the roadway.

How much oil is on the roadway 2

c The distance "round the block” from my house is 1168 metres.

How far will T hawve travelled if T walk my dog 7 times round the block 2



Decimals
==

1. Copy and do the following :-
a £ |1-B"9‘EI- b 3 | 13-11 e b6 |EB']'.4

d 637b+5h e 3704:-8 f 13-b8 = 7.

2. a  Share £106-24 equally amongst 4 children.
How much will each receive ?
b I cutapiece of string 46-02 centimetres
long into 6 equal pieces.
What length is each piece ?

2. ¢ Bidentical boxes of cheese weigh 1176 kq in total.
What is the weight of 1 box ?

636 litres of liquid weedkiller wos made up and
poured equally over 4 lawns,

How much weedkiller went on each lawn ?




Decimals

1. Copy these down and find the following :-

a 648 b 0-87 e 1243
x 10 x 10 x 10
d 07 e 379 f O4bb
= 10 x 100 = 100
g 11-115 h 0094 i 76
x 100 = 100 x 100

2. Whrite down the answers to these :-
a 10x634 B 10x163 e 10 = 084 d 10 x 146
e HBB3 =100 f 3463 x 100 g 0009 x100 h 100 x 83,

3. A con holds 0-96 litres of water.

How many litres are there in:- a 10 cans b 100 cans ?

4. Find the answers to the following :-
a 3346 x 1000 b 0635 x 1000 e 4573 x 1000.

5. Which is largest, 0-0013 x 1000, 013 x 100 or 13 x 10 ? X

6. Remember :- 1kilometre = 1000 metres.
How many metres are there in :-

a b kilometres b 87 kilometres c 0-3 kilometres ?



Decimals

1. Copy and work out the following :-

a 1EI|E|'4

d 562 <100
58

7 10

482

Y oo

2. Find the following :-
a 1000|3521

d 352'6+1000

b

10 |45'E

4264 = 100
67
10
RBT
100

1000 [ 3525

330
1000

3. a If 10 packets of humbugs cost £6-80,

what will one packet cost ?

- @ @ |

What will one marshmallow weigh ?

4. Change :-

a 15 mm to cm

T

e 100 marshmallows weigh 362 grams.

SR

10(0-03

36 = 100
0-38
10

49
100

1000 | 645

13578
1000

If a box of 100 lake golf balls costs £98,

what will one golf ball cost ?

462 cm to m

1190 m to km.

10



Solutions

Exercize 4

26-54
14-85
765

3121kg b

Exercize S

1.

e |
9

19-4.4
21-54
717

2. a 3915 kg

Exercize &

1

L |

-48
12-75

2. o EZ26-56

Exercize 7

1.

P

IR

el I T O < TS T

ta

-8

T

1111-5
&3-4

583

-6 litres
3345

= 10
5000

Excrcize &

1.

e

B0 oe=iWwan

0-54
0-5&2
o8
0-482
0-3521
0-3526
SEp

1-5 em

b
b
b

b
i
h
b

b
“

b

T H O

b

ag

=l = I =l = I =

28-19 ¢ 1215 d 32763
3769 ¢ 142
406 e 44401

151 kg.

Z4-1 c 24-28
£4-29 + 18-16
14-885 i 11-&
g4-84 L « &I17V-6 m.
4-3F c 489
4-653 + 1-94

FaFfFem ¢ 147 kg d 1-539 litres

8-r c 124-3

3ITF90 f 456

9-4 i Fad

16-3 c B4 d 146

346-3 g O9 h &30
B 96 litres

635 c 45730

8700 < 300

4-58 c 0003

o-4264 £ 0035

O-&67 i 0038

5-87 I 004

3-525 c 0O-0645

0-33 f 13-578

SEp c Jodg

4-62m c 119 km

11



Integers
m Subtracting Negatives ﬁ

1. Find -
a 4-(-2) b 8-(-1)
e (-3)-(-2) f (-1)-(-1)
i (-34)-(-21) j (-121)-(-77)
2. Find :-
a 4x-(-2x) b Ty-(-4y) 23k-(-14k) d 166i- (-127g)
¢ 1l1d-(-88d) f (-3w)-(-4w) g (-40j)- 11j- (-20j).

Lid

10 - (-5) d 70-(-30)

(-8) - (-7) h o (-11)- (-6)
73 - (-54) I (-243)- (-233).

= D

Lid

m Multiplying/Dividing Negatives X

1. Find:-
a 3Ix(-2) b 8x(-1) e 12 x(-B) d 10 x(-30)
e (-3)x4 f (-1)x6 g (-B)x7 h (-11) x4
i (-9)=13 J (H121) =11 k 72-=(-9) I 243 = (-3).
2. Find -
a (4)=(-2) b (-3)x(-4) e (-7) = (-9) d (-11) x (-12)
e 15:(-B) £ (-30)=(-5) g (-40)=(-8) h (-243):(-3).
3. Find -
a (-11+3)x2 b (7-11)x5 e (-1)¥ d (-1) = (-7) = (-2).
m Mixed Exercise ﬁ
“=I-
1. Find - a -3+8 b 8-(-2) e 9+ (-3)-(-5)
d Bx(-4) e (-3)x6 f (-B)x(-7) g 35:(-B)
hoC6N-(8) i (DF Pk K (10)x (D) (2)

2. For every 100 m a weather balloon rises the temperature drops by 2-56°C. @

If at ground level the temperature is 11°C, what . .
would the temperature be at a height of 21 km ? '

¥



Answers

Exercise 2 - Adding and Subtracting Integers

1 a-1 b 5 c 2 d -2
e 0 f 5 g -13  h -4
i <100 j -3k -T0 | -50
2 a-BT b-5 ¢ 39 452
e 21 f 27 g -382
h -k i -10g j 2t

Exercise 3 - Subtracting Megatives

1. a6 B 9 c 15 d 100
e -1 f 0 g -1 h -5
i =13 j 44 k 127 | -10
2. a bx b 11y c 3Tk d 283§
e 199d f w g -3l

Exercise 4 - Multiplying/Dividing Megatives

1. a 6 b -8 c -60 d -300
e -12 f -6 g -6 h -44
i -3 j -1 k -8 | -81

2 a8 b 12 c 63 d 132
e -3 f 6 g 9 h &1

3 a -16 B -20 c -1 d -14



Algebra

Exercise 1 Simplifying

1. Simplify each expression by collecting like terms --

a yEyEy B t+3t-2 e 3p+5p+p d 4k+9k-4k

e Zw+6w+3 f Tu+3-6u g By+4b+3y-2b+7

I x4y i 6kx7T j 1lep=2 k 24w-=8
| ax3b m 2vx3v n 2abx 3a o 3edxdex2d
p 18p:3p q 6k°+ 3k r 40g° = 8g° =  Atx6t:8t

2. Find the total area of each large rectangle in terms of x and y :-

a b
¥ 5¥
2af :
¥
Ax 2
LU NEE | Breaking Brackets
1. Multiply out each bracket :-
a 3(x+4) B Tly-3) ¢ S(Zk+5) d 16y-7)
e Hy+2) f Kk-3) g u3u+4) h  3r{3r-4)
i -3(g+05) J  -4(2t+6) k -5(j-2) I -2(3f-8)
m -yWy+7) n -hih-3) o -2wZw+1) P -Ski3-4k)

2.  Write down the area and perimeter

e

B without brackets.
Jx+ 4




Algebra
| Exercise 3

1. Multiply out the brackets and simplify fully where necessary :-

Breaking Brackets and Simplifying

a Sk+2)+3 B B(2y+ 4)-12 e T(3e-2)+11
d B+2(f+3) e 11-3(3:w) f 15-(g+ 15)
g 3(w-1)+2(w+1) h  4(2y-3)+5(4y+ 3) i 2l4r+3)-6
j o 3w-(w+4)+2(2 -w) k 4(3y+4)-2(5y-1)-18

I 3p+2(4p-6)-(9p+12) m 5(3-2m)+3(2m-6)-41-8m)+2m+7.

2. Calculote the shaded

area of the rectangle
shown, in ferms of .

Sy-8

S Sl | Solving Basic Equations

1. Solve each of the following -

a y+5=7 b t-3=6 S5+h=11
w+ 31 =30 e 15+ k=13 121 - 5=123

g 3x-12 h Sg=-15 i 3u=1
i Lld=a0 k Ltr=a | Fw=16

2. Solve (show all your working) -
a 2x+1=13 3w-1=20 Sy-11-=1%2
d Sx+1=21 e 1Fg-17=17 12d+12=0
g 6k-4=17 11+ 10 =76 i tg-1=11

3. The perimeter of a square is found to be 3x -7 cm.

When measured the perimeter is 17 cm.

Find the waluee of x




Algebra

m Solving Equations with Brackets

Solve each of the following :-

e 2(5+h)1=14
f 6(11-5)=60
i 3(u-11)=-18

1 _
= Eu—l-lS

f 2(3e+7)-3=85

a 3(y+5)=18 B 5(f-3)=35

d  3(w+1)=33 e N5+ k) =36

g 3(x+1)=12 h S(g+2)=-15

j (d+4)+d+1=11 k A(r-2)+2(r+1)=12

I 3(2w+2)-(w+6) =10 m 2(2F+3)+3Ar-1)-2(5F+3)=0.
Mixture -

Solve (show all your working) -

a x+6=11 b 3w-2:=-13

d Frf+3=24 e 42x-1)=4

|m\ Evaluating Expressions and Formulae

1.

Given a= 2. find -

a a+b b 2a
d (Fa+4):2 e AMa+2)
g 3{a+1)-12 h Sla+2)+15

Given b= 3, = 5 and 4= -1, evaluate -
a b+c+d b 2b-c¢-3d
Zbed e cdb- dhe

a Iff=2 g=4and h=-2, find e. given f+ g+ h+e=10.
b If p=3, r=-3and s= 2, find tgiven sf - prs = 12.

If m= 4 and n= &, find the values of -
a m b n°

d m +n° e 2m*

g Jymn+1 h J5m-2n+1

Sa-3
&(11 - a) - 53
i 3(a-11)+ 27.

¢ Libe+d)
0-5{bd - ed).

e Jm
£ 3mn°

i JmPsnt-3



Answers

Anzwers to Chapter 7
Exercise 1 - Simplifying
Lady b2t 9% d%
e Gw:d f usd g ly+2b+7
hl2y 142k |8 kiw
| 3&b méw nbab o 240
po g 2k r 5 s 3
20 Oxt+3x b Tyt +2ly

Exercise £ - Breaking Brackets

L oadx+l2
¢ 10k+25
E Y2y
g Jut+l2u
I -3g-15
k -5j+10
m -y - Ty
g At -Iw

b Ty-2l

d bby-77
f ke-3k

h 9r2-12r
j 4t-24

| -of+16
no-ht+3h

p -15k+ 20k

2. a Az2x3Ax+ 4) b Az6x?+8x

Exercise 3 - Breaking Brockets & Simplifying

1. a 5k+13 b 16y+20c 2Zle-3
d 27414 & 2-3w f -g
g Sw-1 h Z28y+3 i 8r
j o k 2y
| 2p-24 m 30m
2. Az 2ySy-8)-yoy-1)= 10y - loy-oy2+ y
A = 4y? - 15y

Exercise 4 - Solving Basic Eguations

1. a 2 B D c &
d -1 g -2 f -2
g 4 h -3 i 1y
j B0 k 12 I 20

2 a b b 7 c &
d 4 E 2 T -l
g 3s h 6 h 48

i x=8

Exercise & - Solving Equations with Brackets

1. al b 10 c 2

d 10 g 4 f 1

g 3 h -5 i B

j 2 k 3 1 2 m /s
2 a b BB c 2B

d 28 A | f -l

Exercise 6 - Evaluating Expressions and Formulae

1. a B8 E 4 c 7
d 9 e l& f 1
g -3 h 35 i 0
2 a7 B 4 c 7
d -45 g 0 f 1
3 a b b -3
4 a 16 B 36 c 2
d 52 e 32 T 432
g 5 h 3 i 7



Fractions

QL.

Q3.

Q4.

Expresseach sum as a fractioninits simplest form

13 21 '
i b, i o 24l d
573 5710 © 173

1 3 1 11 .
_+3 g §+-_1 h. =_1+_|5- i.
3.1 | 1,3 2.1 )
1'% 3+3 - 37 '

Express each difference as a frachonnits simplest form

31 1 1 ) 5 2 .
4 4 ' 26 ' 6 3 '
11 201 1 2
L =_2 h  —-=
21716 B 31 173 !
112 . 7 1 I .
12 3 12 3 8 3

Expresseachproduct as a fractoninits simplest form

1 4 1 3 1 4

3:{: h. E:{ﬁ C. Eb{; d.
6}:: 3:{1[:' I 3:{4 i
T 3 5 21 ' § 21 '
j:: 6 1 5}{1-1 m ?KIJ n
16 25 7 15 ' 9 35
Expressasa single fraction

1 1 2 2 4 3

5 1 29 3 1

24 20 1 6 © m § 9 n
352 ' 25720 ' 21 14 '

=
+
[P

+
ool LA

s b=

L] =
+
[ QWE]

=1
+
aa] b2

(o =
+
wal| ba

+
P

LT =1 ]

iaa| b2
laa] o=
IS



QL.

Answers

a ;1 b
1
17
g. 30 h.
23
m. 3 n.
1
a. 3 h.
5
E 5 h
m d n
) £ .
1
Q3 a = b.
2
g. = h.
m : n
. 3 .
3
Q4. a i b.
4
. - h.
& 3
16
m. 7 n.

[ L I o [ ] e
-:-l "-:-|"' :-ln_uul‘-"

v ol el i e 5

[Es—-
LA b

[
[ ]

“"_"li_.wl [ '—-ll—-r_.lll—-l:-ﬂll_u | b3
L= Lal oy )] &2

SR

B = 5]

(] ot | it
I'_.-l;hll-'l

i | b o]

&lw Bl

o] = | =
I_-'lll:lE'

al b —a]

|,:.,:,|.u||_-'|

[
LA



More Fractions

4. Express each sum as 2 frachion m its simplest form.
@ 11-12 12412 @ 22+l
2 4 7 g 4
5, .1 2,43 3 .3
£ F=+2- R 1==+1=
(©) § 4 © i 4 ® 5 5
-3 3 : 1 35
O 537 0 &g B 337G
T2 2 1 11 .3
m) 2I—--— ] 4—=+3— o l—=2=
(rm) 10 3 @ 3 12 () 16 8
3 3 S 2 1 7 1
5 Express each difference as 2 fraction m its simplest form.
i | ) )
a) 3I-= 4—— c 3-—
(@) 3 P 3
1 3 1
&) 1-- 3-2 y
(e) ; (D i (g r

. Express each differsnce 25 2 frachion m its simplest form.

(a) 3211 6l _4l c :i_'—ll
4 2 MM 5 4

4 3 11 .5 2 .1
£ 5—-1= b——-1= 4=Z-1=2
(€) 5 4 ® 2 6 ® 3 7

21 1 25 .1 7 .1
1 5--1- J——-2= i B —4Z
® 3 8 g 2 ®) 12 3

(m) 9%—4_ @) =

(d)

(h)

(p)

(t)

(d)

(h)

(d)

(h)

(p)

ka

LT =] ]

= WY



Answers

(b)

(m) 3— (o)

(s} 3=

=

I

| o ]
g | =

(o)
jp —
e | e

=
B
[
e |

()

.F.. (=]
o | Lad | =t [ |

L=

=

=

]
S



b

More Fractions

()

(k)

(o)

(s)

(k)

(0)

(s)

-
(a) lixl—; (b) 11512 (c)
1 .1 1
£ I—=l- l—=2—
(€) 4 3 ® 3
1 = : -1
(1} EExz (i) E:{-’l—
(m) 4ix£ n 3—%:{31
7 3
3 1 4 2
S P r l—x3—
@ 22x35 0 15%35
Express as 2 single fraction:
| 1 1
a 5=1- T—= 2=
(@) 4 2
3 1 6 1
e l—= 2= d=—z=1—
(€) 8 4 ® T 14
3 1 . 11 14
1 3—=z2— _——
® 3 4 W 24 13
7 .4 4 .1
i1 l—=4- i} 4_=2—
(m) 20 5 @ g 12
L2 2 1
(q) do=bo I  1z=1

Express each product 2z a fraction m 1ts simplest form:

(d)

(h)

(p)

(t)

(d)

(h)

(p)

(t)



Answers

(=

(@ 1= (b

(m) 12 (n)

5 21 ()

| o |

-
- |

I [

L ]

| o]

s | B



Coordinates

m Coordinates in 4 qhndrnnts

¥
1. Write down the coordinates of :- L A
g
a each point shown in the diagram. A(-3. 4) B
4 ¥
the point on the y axis. -
3 \.I—h
¢ all the points with the of "—’—{
< : 2 -
same x coordinate. I o
d all the points with the s
same y coordinate. *
4 3 2 10 2 3
¢ the point with the same -1 =
xand y coordinates. 2
f the fourth vertex, P of the b 3
rectangle DABP.
4
2. a Copy the same axes grid from question 1.
Plot the points P(2. 3). @Q(4.0). R(2.-3). 5(-2.-3). T(-4.0).
¢ Plot the point U, where PQRSTU are the vertices of a hexagon.
3. Look at the diagram shown. Y
a Write down the coordinates o 3
of R, Sand T. ¥ 4
b Reflect RST over the x-axis 3
and write down the coordinates 5
of R'S'T.
1
¢ Reflect R'S'T over the y-axis T
and write down the coordinates 4 3 2 10 > 3
of R'S"T". -1
-2
4. The vertices of a triangle reflected 3
over the y-axis and then the x-axis
are A(1, 5), B*(7. 0) and C"(2. 2). 4
State the coordinates of the

original triangle ABC.




Coordinates

Revisit - Review - Revise Exercise 5

Y&

1. Write down all the coordinates :- 5

shown on the diagram. 4

b that lie on either axes. 3

¢ that have the same x and P 2
y coordinate. : L
2. PJISM are the vertices of 4 3 1 0 2
a parallelogram. -1 G

State the coordinates of vertex S. -2

N 3

il -

3. a Copy the axes above. »

b Plot the points R(1, 3). 5(-4. 2).
T(-3.-2) and U(2. -4).

Draw a vertical line which cuts through (2.0).

d Reflect RSTU over the dotted line.




Answers

Exercise 1 - Coordinates in 4 (Juadrants

1. a A(-3.4) B(2.4), C(4.-3). D{-3.-3).
E(3.-1). F(0.-4), &-2.0)

b F c A&GD d A4&B,L D&C
e D f P{-2.-3)
2. a/b 5See diagram e W-2.3)

3. a R(-1.4), 5(4.3). T(2.1)

b see disgram - R'(-1.-4), 5'(4.-3). T(2.-1)

¢ see diagram - R°(1.-4), 5"(-4.-3), T(-2 -1)
4. A(-1-5), B(-7.0), C[-2.-2)

Review - Rewvisit - Revise Exercise B

1 a I{4.3). J(2.1). K(2.-1). L(5.-2).
M(3.-3). N(-3.-3). P(-3.2). Q(0.4)
b Q04) ¢ MN{-3-3)
2. a 5(2-4)
3. a/bfc See diogram
d R'{3.3). 5'(B.2). T(7.-2). U(2.-4)



